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@ A= {z|z=44)old

(M1 3, SHA )

n(A)=4
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@ n(@)=0 ®n({1,2 3})-n({1,3})=3-2=1
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n(A) +n(B) ¢ = Fstofzt. [ 3, sk

A= {]-a 2, 4, 8, 16} O]E-E n(A) =5
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10. 93 5 A& A7 A 3, s | 12.10 9 o9 AF= A, 12 9] oF0] s B &L
o, o2 5 22 AE BE 1=29? (FH 27)
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@)z | o 52T 2 A%} = (1, 3, 5)
@ {z|ze 1005t &4} = {1, 3,5, 7, 9}
@ {z|ze 129 2} ={1, 2, 3, 4, 6, 12}
@ {z|z=200]9H9] 49] Wl4) = {4, 8, 12, 16}
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@) (x| 2109 %4} = {1,2,5,10}
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On({2h) =n({3})=1

@®A={1, 2, 3}, B=11, 2} o]H
n(A)—n(B)=3-2=1 °|t}.

@ n({50}) —n({40})=1-1=0

®A=1{1, 2, 4, 8}, B={1, 3, 5, 7}01_‘:_'?._
n(A)=n(B)=4

27. % A% A, Bl disto]

A = {z | z& 10°s5t¢ &=}, B = {z |
L 100ET 22 119 85}, O = {z | vE= 12x 2 =
245 W= At 4 W, n(B) —n(A) +n(C) &7
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A=1{3,6,9,12, 15,18} o| B2 ZAAA Yo =
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32. T A A = {1,2 {3, 4}, {5, 6, 7}}, B =
{0, @, {@}} o st n(A) — n(B) & Fstozt.
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33. _I[:“ @@— A = {17 27 {3, 4}) {53 6a 7}}7 B =

]

{0, @, {@}} o W5t n(4) — n(B) & F5toiet.
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® n(AUuB)=5

@ n(ANB)=4

(@)n (AN B°)

@ n(B°—A)=13

® n(A-B)+n(B-A)=3
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r=3< W, y=5,10, 15 9] 37}x]o]1L
z=6,9%9 M, y=5 109 2z 271x]0]21
x=12,15 4 o, y =5 9] ZtZ 17}A] o]}, whet
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